
Economics 5250/6250 Dr. Lozada
Fall 2011 Midterm Exam

This exam has 33 points. There are six questions on the exam;
you should work all of them. Half the questions are worth 5 points
each and the other half are worth 6 points each.

Put your answers to the exam in a blue book or on blank
sheets of paper. The figure for the exam appears after the ques-
tions.

Answer the questions using as much precision and detail as the
time allows. Correct answers which are unsupported by explana-
tions will not be awarded points. Therefore, even if you think
something is “obvious,” do not omit it. If you omit anything,
you will not get credit for it. You get credit for nothing which
does not explicitly appear in your answer. If you have questions
about the adequacy of an explanation of yours during the exam,
ask me.



Answer all of the following questions.

1. [5 points] It would be quite wrong to describe Coasian bargaining as
an example of a perfectly competitive market. Why?

2. [6 points] The first equation below leads to the second and third.
Explain this set of equations. What is the economic interpretation of
the first equation? What is the economic intuition behind the last two
equations (that is, why do they make sense)? You need not explain how
to differentiate the integral, and in any case, explaining mathematically
how the second and third equations are derived from the first is not the
most important part of this question; explaining the economic meanings
is.

max
Q,A

∫ Q

0
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∂Q
.

3. [6 points] Thoroughly explain Figure 1.

4. [5 points] Explain the relationships between “compensating varia-
tion,” “equivalent variation,” “willingness to pay,” and “willingness to
accept” if the contemplated policy action would result in a welfare gain.

(If the only mistake you make on this question is mixing up compen-
sating variation and equivalent variation, you will only lose 1 point.)

5. [6 points] Describe what “acid rain” is, what damage it causes, and
what economic policies have been undertaken to control it.

6. [5 points] What is the relevance of the fact that humans reproduce
sexually to the discussion of intergenerational equity?
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